NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

SW EW FLUSH GIRT CONDITION
CAO0015 - SW OR EW HOT ROLL FLUSH GIRT DETAIL
CA1001 - FLUSH GIRT BOLT PLACEMENT DETAIL
CA1010 - FLUSH GIRT DETAIL
CA2000 - FLUSH GIRT TO ENDWALL DETAIL
CA2010 - GIRT TO SINGLE CEE RAFTER
CA2020 - GIRT TO DOUBLE CEE RAFTER




NUWUCORN

BUILDINGS GROUP

SW EW FLUSH GIRT DETAILS

WALL SECONDARY

CA0015 - SW OR EW HOT ROLL FLUSH GIRT DETAIL

SHOP WELDED STIFFENER

HOT-ROLLED CEE GIRT

1
[¥]

3]

(2) 1/2" x 2" A325 BOLTS (H0603)
AND NUTS (H0300) TYPICAL

SIDEWALL OR ENDWALL COLUMN /

SHOP WELDED PLATE
;CENTERLINE 6" x 3/8" SHOP WELDED
|
I(-III?.II%II;C?LIJ_III_?EEDDflRT | s HOT-ROLLED GIRT
___________________ ]

Fzosoozzoooozoooos ot ettt

I

| —@ a>

z L]
Q= I = |1
= s i
I3 ” N
] I
o 1 1 —I I I
iz 1 el
| <C | ~
(f‘u-_ E:::::::::::?I:::::: I 1 |—EI- ------- ‘L—-E
= ['1 = x
5 I i GIRT ANGLE MK. MAGO01
RIGHT HAND DETAIL SHOWN, ! i WITH (2) H1070
LEFT HAND OPPOSITE ‘ 411" 6 1/2" ‘ 6 1/5" 412" FASTENERS (TYPICAL)
(+-) (+/-)
SECTION A

SW OR EW HOT ROLL GIRT DETAIL

FLUSH GIRTS AT INTERIOR BAY COLUMNS

NOTE: USE (4) 1/2" x 2" A325 BOLTS (MK. H0603) & NUTS (MK. H0300)
REFERENCE ERECTOR NOTE FOR TYPCIAL WASHER REQUIREMENTS

Detailer Notes:

1) SHOP WELDED PLATE TO HOT-ROLLED GIRT = GCP06

(_CA0015)

Issued : 08.16.19 (2018.017)
Issued By: CAH

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


dtls/ca0015.dwg

NUCORN

BUILDINGS GROUP

SW EW FLUSH GIRT DETAILS

WALL SECONDARY

CA1001 - FLUSH GIRT BOLT PLACEMENT DETAIL

8" GIRT

® GCAVl —" " SECTION "A"
2“¢ 4" A 1 VARIES

wins

60 602 0o o "A"?

L e |

8" OR 12" GIRT AT CORNER

GIRT CLIP
8"OR 12" GIRT

m
''''''' =
! -1
| —I
S U
ngﬁl o

6 1/2" STD

8" OR 12" GIRT AT SW OR EW

91/2" GIRT

GCA0l —

SECTION "A"

O
o
@]
o
0]
o
o
>
_>

H0q 00,

——
—
=
=

.—

9 1/2" GIRT AT CORNER

GIRT CLIP
91/2" GIRT
I w
- =
<t —l
—
------- @ LL
C = "|'_J
e8] ~ »

61/2" [(STD
9 1/2" GIRT AT SWOR EW

FLUSH GIRT BOLT PLACEMENT DETAIL

REFERENCE WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS. C CA1 OO 1 )

REFER TO THE DETAILS ABOVE TO DETERMINE WHICH HOLES ARE UTILIZED.

Detailer Notes:
1) N/A

Revised : 04.21.20 (MR2020.004)
Revised By : WME

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


dtls/ca1001.dwg

NUUCOR SW EW FLUSH GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CA1010 - FLUSH GIRT DETAIL

ERECTOR GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH MULTIPLE GIRT DEPTHS.
NOTE REFER TO THE STANDARD BOLT PLACEMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.

RIGHT HAND DETAIL SHOWN, LEFT HAND OPPOSITE

SHOP WELDED CLIP
IF REQUIRED

¢ SHOP WELDED CLIP
COLUMN MK. GFI02

GIRT, IF REQUIRED GIRT

—_————————————]

~n® n®
i v
x =
Se ! Se
[
[
% | &
[
g : g
__<>c' L,,@; ,,,,,,,,,,,,,,,,,,,,, JI- ,,,,,,,,,,,,,,,,,,,,,,,,,,,, ,,J <>(. $L
=
=
=i
S|
GIRT ANGLE MK. MAGO01
WI/(2) H1020 SCREWS.
(PLACE ANGLE FROM GIRT
TO FLANGE OF COLUMN)
FLUSH GIRT DETAIL

FLUSH GIRTS AT INTERIOR BAY COLUMNS

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS CA1 O 1 0
Detailer Notes:

1) N/A

Revised : 04.21.20 (MR2020.004) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Revised By : WME


dtls/ca1010.dwg

NUUCOR SW EW FLUSH GIRT DETAILS

BUILDINGS GROUP

WALL SECONDARY

CA2000 - FLUSH GIRT TO ENDWALL DETAIL

ENDWALL RAFTER

USE (2) 1/2" x 2" A325 BOLTS H0603/ NUTS
HO300 (CLIP TO FLANGE CONNECTION)

\

<

,
\
-
\

(o))

3
-

LINE

N
. ENDWALL STEEL

<

|
»

SECTION "A"

/ ENDWALL GIRT

<>

‘ ‘ \

CLIP MK. GCR__

GIRT TO ENDWALL RAFTER

FLUSH GIRT AT EW RAFTER
(2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

(_LCA2000 )

Revised : 03.16.23 (MR2023.04) CERTIFIED ERECTION DETAILS
RevisedBy : BSS

Detail Size (W xH): 1x1


dtls/ca2000.dwg

NUCORN

BUILDINGS GROUP

SW EW

FLUSH GIRT DETAILS

WALL SECONDARY

CA2010 - GIRT TO SINGLE CEE RAFTER

—
i
N
7 3
SINGLE CEE =
COLD-FORMED oo =
ENDWALL RAFTER Al ] e
GCcR_—/
CLIP MK. EWAOT
B GIRT SECTION ||A||
_>
ENDWALL STEEL LINE '
A |
T
\ 7 % RAFTER |
A EWAO1 L
A |
I — (2) 1/2"x 2" A325 | i
S BOLTS H0603/ NUTS \[~_| i
(2) 112" x 2" A325 H0300 o Nofl
BOLTS H0603/ NUTS GCR — — |==I5 |
H0300 GIRT | 3 | |
CLIP MK. GCR__ Y |
ENDWALL GIRT SECTION "B"
GIRT TO SINGLE CEE RAFTER

FLUSH ZEE GIRT AT SINGLE CEE COLD-FORMED ENDWALL RAFTER
(2) 172" x 1 1/4" A307 BOLTS HO500/NUTS H0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:
1) N/A

(_LCA2010 )

Revised : 03.16.23
RevisedBy : BSS

(MR2023.04)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


dtls/ca2010.dwg

NUUCOR SW EW FLUSH GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CA2020 - GIRT TO DOUBLE CEE RAFTER

—
(0@ i
o
DOUBLE CEE s 2
COLD-FORMED ENDWALL =\,
RAFTER oo oY
l Ll
___I _______________________ ___‘_
B GoR_—
_> —
GIRT— SECTION "A"
ENDWALLSTEELLINE
4|| !
/ |
RAFTER : ! |
T (2) 1/2" x 2" A325 - |
A BOLTS H0603/ NN | :
. . , H0300 !
e = ———— ———Z !
e e v GCR__ |
CLIPMK.GCR_ ———— |
GIRT i
ENDWALL GIRT :
SECTION "B" i
FLUSH ZEE GIRT AT DOUBLE CEE COLD-FORMED ENDWALL RAFTER C A2 O 2 O
(2) 1/2" x 1 1/4" A307 BOLTS HO500/NUTS HO0400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) N/A
Revised : 03.16.23 (MR2023.04) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

RevisedBy : BSS


dtls/ca2020.dwg

	TABLE OF CONTENTS
	SW EW FLUSH GIRT CONDITION
	CA0015 - SW OR EW HOT ROLL FLUSH GIRT DETAIL
	CA1001 - FLUSH GIRT BOLT PLACEMENT DETAIL
	CA1010 - FLUSH GIRT DETAIL
	CA2000 - FLUSH GIRT TO ENDWALL DETAIL
	CA2010 - GIRT TO SINGLE CEE RAFTER
	CA2020 - GIRT TO DOUBLE CEE RAFTER


